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( C )21. Itis aaddition in right graph. A different sign represents a different number.
How many possible values of D? (A)5 (B)6 (C)7 (D)8
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( B )22. Joe and Mary had an investment to feed n pigs. Each pig was sold n dollars
and was sold out. They decided to share the money equally. Joe takes away 10
dollars at first, than Mary takes away 10 dollars, Joe takes away 10 dollars,..... .
Finally , Mary takes the money less than 10 dollars. How much money should
Joe give Mary the money? (A)1 =~ (B)2 ~ (C)3 ~ (D)4 ~
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(A )24. The first row is one to seven. The 2nd row is eight to fourteen. ....It was
shown as right pic. Use a transparent L ruler to cover three numbers. Look at it,
the sum of the three number is 39. A transparent L ruler can spin. If the sum of
the three numbers is 346, how much the smallest number?
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